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ENGLISH
Question Nos. 01 to 25

Directions : Read the passage & answer the
questions No. 1 to S based onit: '

Fifly ycars ago people ate ice cream only in
summer. Now it is eaten all the vear round. It
originated in the Orient, centuries before English
schoolboys first tasted it. Marco Polo saw people
eating ice cream there and brought back the idea to
Italy. From Italy the idea was carried to France, [t
became very popular in France with the rich, and an
effort was even made to keep the recipes a secret from
the common people. But, of course, they soon learned
about (his delicious new food and ice cream became
popular with everyone. Soon it spread all over the
world. The first factory to manufacture ice cream was
started in Baltimore. Maryland. in 1851. However.
the real development of ice cream and the ice cream
business didn't take place until after 1900 with new
developments in refrigeration.

The basis of all ice cream is cream. milk or milk

solids, sugar, and sometimes eggs. Vanilla, chocolate,

berries, fruit ingredients, and nuts are added as
flavors, This is the usual proportion of ingredients in
ice cream: about 80 to 85 percent cream and milk
products, 15 percent sugar, half to four and a half
percent flavoring, and three-tenths of one percent
stabilizert.

A smalf amount of gelatin is used in order to
retain the smoothness of the ice cream by preventing
the formation ofice crystals.

When you eata cup of vanillaice cream, you are
getting aboutas much calcium, protein, and vitamin B
asare in half a cup of whole mitk, and as much vitamin
Aand calories as ar¢ inone cup of milk.

-
| - I
L3 2 .

1.

I~

~ Themajor change towurds lce cream is that

(A} it is eaten throughout the year

(B) it is eaten as a desert

(C) 1tiseaten in summer

(D) Itis eaten in winter

fce cream became popular with evervone

(A) when the idea was carried from ltaly to
France

(B) when English school boys tasted it.
(C) whentherichin France started eating it.

(D) when the common people learned about its
recipe. .

The introduction of refrigeration led to the

(A) increased consumption of ice cream.

(B) development of the ice cream business.

(C) increase in the production of ice cream.

(D) improvement in the quality of ice cream.

The smoothness of ice cream is retained by

(A) forming ice crystals

(B) using a small amount of gelatin

(C) using eggs

(D) using cream and milk

Find a word from the passage that means
the sume as "tasty” '

(A) recipes (B)
(C) delicious (D)

gelatin

flavouring

Direction:- Select the word which can be used in
‘place of the whole sentence given below.

6.

A handwriting that cannot be read.
- (A) illiterate (B)
(C) visible (D)

itlegible

incorrigible




Directicn:- Select the correct passive voice.

7. bly father is washing the car.
(A} The car will be washed by my father.
(B) The car was washed by my father.,
(C) The car had been washed by my father.

(D) The car is being washed by ny father.

Bireetion:- Select the correct option out of the four
aliernatives given befow:-
E. YWhich of the following sentence is correct?
(At 1sav an dictionary on the table.
{3, Isaw diclionary on the table.
U} 3 saw a dictionary on the table.

(1) T saw dictionary.

9. This is the girl......... car hit that tree last

el
(A3 who (B)  which
(C) whose (D) whom

Bircetion: Out of four alternative meanings, pick
the most appropriate meaning for the mentioned
idioms and phrases (Q. 10 to 12)

19, To smell 2 rat.

(A} To see signs of disease piaguc.
{BB} To get bad small ol a bad dead rat.
() Te suspect foul dealings.

(D) To be in a bad mood.

Il 1 met him after a long time, but he gave me
the cold shoulder,

(A} scolded me
{I3) insuited me
() abused me

{13}) ignored mc

12, Leaders should not only ' speeches they
. should be prepared to hell the cat,

(A} To Take lead in danger

(B) To tie bell to a cat's neck.

(C) o be alert of the enemy”

(D) To make noise

Direction :- In each of the following question, out
of given alternatives, choose the one which hest
expresses the meuning of underlined words
(Q.13t0 15)

15. The bullet wound proved to be fatal and
the soldier died immediately.
{A) Grievous  (B) Dangefous
(C) Serious (D)  Deadly
14. In spite of their efforts, the term of scientists
could not make much headway to solve the
problem,
(A) progress
(B) Thinking
(C) Efforts
(D)) Start
15, Timid
(A) Fast (B)  Slow
(C) Medium (D} Shy

Direction: Rearrange the following words &
phrases to form meaningful sentences (Q.16t0 17}

16. a) Six Candidates
b) the election
¢) standing in
d) therc are
A} abed B) beda
C} dacb D) cdab



17 a)  that cornor b) a bookshop

¢} o d) there is
(A) dbea {(B)  abed
{C) bead (D) cadb

Direction : Pick out the adverb from the given
sentenve.
18, Paul walked slowly towards the exit.
{A) walked {B)
1C) slowly (D

towards
the exit
Direction : Fill in the blank with appropriate
nreposition,
19, T've lived in this house
{A) since (B) for
() from (D) in

SIX years.

Dircetion : In each sentence below (Q. 20 to 21)

there are two blank space. Below each sentence,

tour pair of words are given. Pick out the most

appropriate pair to fill in the blanks in sume order

to make the senfence meaningfully complete.

20. The police arrested him on a of
thett but for lack of evidence him,

(A) condition, left

(3) complaint, punish

(t2) crime, imprisoned

(D} charge, released

21, The judge him because he was found
_onthe basis of the evidence.

(&) freed, criminal
{B) punished, guilty

(C) jailed, innocent

(D) freed, guilty

Direction: Choose the correct connector from the

four options given :

22, Iliked the car, - I'bought it,
(A) So (B) for
(C) when (D)  cvenso

Direction: Transform the following simple
sentences into complex form & choose the correct

unswer ((. 23 to 24)

23, Isaw a wounded dog,
(A) Awounded dog was seen by me.
{B) [wasshownawounded dog.
(C) Isawadog. wounded that was.

(D) Isawadog that was wounded

24.  He bought his uncle's house.
(A) Hisuncle's house-was bought by him.

(B) He bought the house which belonged 1o his
uncle.

(C) The house which belonged to his uncle was
bought by him.

(D) Hewasasked to buy hisuncle's house.

Direction :- Which of plirases given below each
sentence should replace the underlined phrasc to
make it grammatically correct?
Q.25 The continued to work in the field despite pf
the heavy rains.
{A) LEventhough there is heavy rain.

(B) although heavily rains
(C) 1nspite the heavy raing

(D) eventhough itrained heavily.




ADPTITUDE AND GENERAL AWARENESS

Question Nos. 26 to 50

Direction (Q. 26 to 28) choose the word'ﬁhich et ;-wm'ﬁgﬁqsﬁqﬁaﬁmﬁﬁm )

establishes the same relationship as shown by the WWW_'@WW%I (W, 26 9 28)
first two words, ' '

o 26. TSR s3F 2 S Y
26. Melt:Liquid::Freeze: 7

TH B) S
(a) lce {(b) Condense #) e B)
{¢) Solid (d) Force © : (D} =
27. College: Student : : Hospital :? 27. RS (B ¢ : S <2
{a) Nurse (b) Doctor (A) Wi (B) fafheas
(¢) Treatment (d) Patient €y = {D}. "Ta—‘ﬂ
28. Country: President : : State : ? | 28 gl T
(a) Governor  (b) MP : (A) AT (B) ¥R
(¢) Legislator  (d) Minister (C) faurs (D)

Directions : (Q. 29 to Q. 32) complete the series 9T o~ (W, 29 | 32) ST AT AT AT I ¥
with appropriate number or élphabetical letter: | =y Syoft =t 9T SRV

2. BO10. TR LEB0, s o 29, 80,10,70,15,60,.........
(@) 20 b 25 (a) 20 (b) 25
¢ 30 &) 50 ' (c)y 30 ) 50
30. 201,202,204,207,....... 30. 201,202,204,207,.......
(A) 205 (B) 208 (A). 205 (B) 208
() 210 D) 211 (C) 210 (D) 21t
31, C-3,B5,G-7.1:9, i | 31, B3RS G s
{A) X-24,M-21  (B) K-11, M-13 (A) X-24.M21 (B) K-11, M-13
(C) 0-15,X-14 (D) M-18, K-14 ' (C) 0-15,X-14 (D) M-18,K-14




32. ACE,FHJL,KMQ,PRT, ..........

(A) TVX (B) RTU
(C) UWY (D) ZBG

33.  Select the diagram, which gives relationship
among : Hockey, Football and Cricket?

(A) Cg B) 80
(©) ™ GO

34. Findthe odd-one out
(A) Rice
(C) Barley

(B) Wheat
{D) Mustard

35, Findthe missing number

7 15 6
@ D o
' 8 20 4

(A) 43
€y 37

(B) 31
D) 39

36. Whowrote 'Vande Matram'?
(A) Rabindranath Tagore
(B) Bankim Chandra Chatterji
(C) Kalidasa
{D) Tulisidas

- 37, -T_he members of Lok Sabha hold office for a_-

term of
(A) 4years (B) | 6 years
(D) 3years

(C) Syears

32

33.

34.

35.

36-

37.

7]

(A TVX.

* faum fasrea m giw:

' 7 15 6
@ o o
8 : 20 : 4

ACE,FHJ,KMO, PRT, ........
(B) RTU

(C) UWY (D) ZBG

u Fort ) e < Bt & v ey e
HA T BFT, BEET W e

(A) @ (B) 80
© | oy (LD

(A) ©EA

B) g
(Cy '

(D) |

Y T (o5 & T I Ihed HEd g |

(A) 43 ®) 31
(C) 37 D) 39
R TR % T A §

(A) Masamdm B) eyt
(C) whreleE (D) JorEE™

THG & TGS ) HIAHT (b G99 o0 Bt
gl

(A) 499
© s

(B) 699
(D) 399



38.

39,

40.

41, Which country won the 2012 Asia Cup Cricket | 41-

42.

43.

44,

. (€) Mumbai

Golden Temple is situated in
(A) NewDelhi =~ (B) Agra
(D) Anmuritsar

The oath of office is administered to the
members of state council of ministers by

(A)
()
(©)
(D)

the governor
the chief minister
chief justice of the state high court

speaker of legislative assembly

Which of the following folk dance forms is
associated with Gujarat?
(A) Nautanki (B) Garba

(C) Wathakei (D) Bhangra

Tournament?
(A) Pakistan
(C) Srilanka

(B) Indian
(D) Bangladesh

Who is the railways minister of India?
(A) P.Chidambaram

(B} Rahul Gandhi

(C) PranabMukherjee

(D) MamtaBanerjec

The largest continent in the world is
(A) Africa - {B) Asia
(C) - Australia (D) Antarctica

On which date is teacher's day observed?
(A) September3 ‘

(B) January 30

(C) November 14

(D) October?2

38.

39

40.

42.

43.

44.

e T e

(a) TWReett (B AW

© T (D) ST

R HEE Y S R

(A) T | .
®) JEEEd |

(C) e TS T
(D) Toum s seay

oo T ST T T ¥

(A) ® T

(C) e Dy T

 frmTr 2072 ORI S :
(A) TR (B) WG S
(Cy et (D) wreRd :
WRES T I P ¢ |

(A) TERERH

(B) EEATE

(©) o

(D) S

e o EER ST TR ©

(A) STHIHT ®) T

(©) eefeam

(D) TR

e e R TG B RIS R ?

s Tt
30 SFag
14 THRR
2 IR

(A
®)
(©)
M)




45.

. 46.

47.

48,

48,

50.

Who is the author of the book "My Experiments
with Truth'?

(A) Mahatma Gandhi

(B) Micheal Anderson

(C) Winston Churchill

(D) Jarnes Morris

Decibel is the unit for

(A) speedoflight

{B) radio wave frequency
(C) intensity of sound
(D) intensity ofheat

Who is known as the Lady with the lamp'?
(A) Florénce Nightingale

(B) SarojiniNaidu

(C) Indira Gandhi

(D) JoanofAre

Solareclipse will take place when

(A)

(B} theearthis between the moon and the sun

the sun is between the moon and the earth.

(C) themoonis between the sun and the earth
(D) the moon does not lie on the line joining

the sun and the earth.

Ours skin, when exposed to excess sunlight,
becomes dark. This is because our skin
pigments called

(A) Flavoxnathin (B) Chlorophyll

(C) Melanin (D) Xanthophyll

Arjuna Award is giveﬁ for -

(A)
(B} Bravery onbaitlefield

Exceptional service inemergsacy

(C) Outstanding performance insports

D)

Exceptional service in slum dv/zllers

45.

46.

47,

48.

49.

50.

Lo |

T s =l
(A) HETT T

- (B) TRHOTEET
() ToreAafEs
(D) WA

(n) TERHITE  (B) WeAw e
© wEHRTE (D) S

‘It fag e’ & A1 T B WS B
(A) R AT

(B) ERISHIARY

() SR

(D) I i T

(A) T,z AR G A=A

B g, A SR g @ S

(©) “EFEE, gl SRYEF A g

(D) v =%, g R geE w1 SigA il {8 W
T AR

mﬁmﬁa%{q%ﬂwﬁﬁaﬂ%ﬁimﬁﬁq@
TR 3 1 T B ETEY T H S e TSRl % I Erl
¥ frR e T

(A) TEREAfET (B) wARIEd

(Cy Heuta (D) wTAfES

ST T Tl TS

(A) ST H fafire g oy

(B) IS UHHATRMS g

() e o faws g = e

(D) Wfe S # forge Jeil = fey
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‘ SCIENCE / fagm

Question Nos. 51 to 75

What is the molecular formula of barium
Chloride. '
(A) BaCl (B) Ba(Cly),

(C) Ba,Cl, (D) BaCl,
Pb+CuCl, — g
(A) PbCL,+Cu  (B) CuFe(Cly),

() Pb* +Cu Cl, (D) PbCuCl,

The end product of a reaction between an acid
and metal is:

{A) Hydrogen gas and Water

(B) Sall and Water

(C) Salt and hydrogen Gas

(D) Salt and Metal Oxtde

What is the formula for Gypsum?
(A) NaHCO,

(B) CaS0,.2H,0

(C) Na,CO, 10H,0

(D) CaSO,.1/2H,0

Which of the following is used in disinfecting
drinking water? _

{A) NH,CI (B) CuSO,5H,0

(C) CaOdl, (D) Ca(HCO,),

Which of the following is not an allotrope of
carbon? -

{A) Diamond

(C) Gallium

Brass is an alloy ot
(A) Cuand Zn

(C) Pband Sn

(B) Graphite
(D) Fullerene -

(B) Cuand SN
(D) CuandPb

To 51 e FANES S I 7§72
(A) BaCl (B)  Ba(Cly),
(C) Ba,Cl,

(D) ‘BaCl,

Yo 52 Pb + CuCl, ® o
(A) PbCl, +Cu (B} CuFe(Cly),

() P+ Cu’ Cl, (D) PbCuCl,

T 53 UF 411 T8 T AR F wre fima o e ser
0 2l % 7
(A) ST g AR T
(B) T SR T
(C) T &R BEGISH
(D) TE UE YT STFES

To 54 Torarm =1 et =0 %
(A) NaHCO,
(B) CaSO,2H,0
(C) Na,CO,10H,0
(D) CaSO,.1/2H,0

Wo 55 ﬁmﬁﬁwﬁmw%m%mﬁ
T g2 B ¥ 2

(A) NH,CI  (B) CuSO,5H,0
(C) CaOCl, (D) Ca(HCOy),
W 56 Bt 1 B I T A w1 T TET T
(A) T (BY U®wEe
_ (C) Tfeem (D) TRERH
o 57 e Fred 1 T s &
(A) CudiRzZn (B) CudiRsn
(C) Pbaisn (D) CudRPb

[10 ]

k.m.s.._‘. [T —
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59:

60,
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Which of the following structure represents
propane?

H H
|
(A) B—C—C—H
[
H H

nH

(B) I{-—%‘—é—lj——ll )
Now o
H

(<€) H——(l_?—H
].|-I

HHHH
I

0y Mo Oeyi-q]
|

!
o

am

H

Name the givencompound.
(A) Propanal |
(13) Propanone HHH
(C) Propene (D) Propanol
Which one of the following compounds is
named as glacial acetic acid?
{A) Sulphuric Acid

(B) Carboxylic Acid

{C) Ethanoic Acid = (D)
On what basis elements were arranged in the
Mendeleev's periodic table?

(A) Atomic Number

(B) Atomic Mass and Similarity of Chemical

Propyne

Propertics.

(C) Atomic Number and Similarity of
Chemical Properties

(12} Atomic Mass and Atomic Number

Yo 58 T4 § 9§ ®9 W T I0H @ Syl B |
H H
||
(a) H--C—CH

|
H H

H H I
1
H—C—C—C—H
i
HHH

(B)

(C) HCot

(D)

T 59 fAe TR w=ne w1 A s lI1

H
(A) T (B) WrAF
(C) drdA (1) w9
Yo 60 T § & o difires wered 1 wiferew ofafes
THe H AR AT R?
(A) 9vfew thag  (B) weiraras ufag
(C) zurgs UfHg (D) W

Yo 61 AfEciia @) e 9ol | o9 59 T W

FHEG 82

(A) ] FEAT

(B) Y] FEAR Q91 TS T gaT
(C) gAY HEA a9 THEMTE o0 G
(D) IXHI] TEAEA T O] A

[ir]
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64.

05.

66.

67.

The size of an element's atomic radius ..........
from left to right across the periodic table

{A) increases. (B)
(C) ramains constant

decreases
(1)) is randomly assigned

An object placed 50 cm from a lens produces a
virtual image at a distance of 10 cm in front of
the lens. What is the focal length of lens?

(A) 25cm (BY -25¢cm

(C) 125em (D} -125em

A boy is standing in front of a plane mirror al a
distance of 3 m from it. What is the distance
hetween the boy and his image?

(A) 3m (B) 4.5m

(C) 6m {I3) None of these

Twinkling of stars is due to

{A) atomospheric refraction of light from
stars.,

(B) atmospheric reflection of starlight

{C) dispersion of starlight

(D)) None of these

Caleulate the net(equivalent) resistance of the
circutt if resistances of 1082, 58 and 15€2 are
connected in parallel.
(A) 3.27Q
(Cy 3.7282

(B) 2.73Q
(D) 237Q

The SI unit ot electric charge is coulomb (C).
which is equivalent to the charge contained in

nearly
(A) 6x10" electrons. (B) 6x10™" electrons.
(C) 1.6x10™" electrons.

{D) {.6x10" electrons.

o 62 SR TSR W B T AE I T

T TS T TR
(A) sga % (B) @\ @ e
(D) =igdt-uzdt et ¥

(C) fem s

T 63 T Y 50 Voo T R fEom UF T, oW F WA
10 orfle 1 0 YT ST Wiafe = ¥ ) o
weEE gl ¥ ? '

(A} 25 Hatflo (B) -25 SHb
(C) 12.5 Tedlle (D) -12.5 HeHb

To 64 TF TS HHFE 2007 F T STH 3 e = g
WESI Y HeH iR 3T wfatad B #rd R gl

§7
(A) 3R (By 4.5t
(C) 6 HX (D) v @ wE o T

Yo 65 R feAfeamdian s
(A) 7T BRI TR & SASEH ST7ae % 5 *
(B) TR B W & SRHETTE 7= g
(C) IR B T % fea/faea gr
(D) = | FE o T

Totla wﬁw%aﬂaﬁaﬂ‘ﬁﬁﬁaﬁmﬁw
10Q. 5Q 3R 15Q & wigi Tar-w =1 7 92

Bl
(A) 3279 B) 2730
(©) 3720 D) 2379

T 67 e (C), Toegm & 7 T 37 31 €1 S
fir TrreeT forad enasl & FOET R ?
(A) 6x10"geRrq
(B) 6x10""gormq
(C) 1.6x310" oA
(D) 1.6x10" serria
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04

74

71

(it

74.

73.

In an electric motor, the energy transformation
isfrom

(A} cleetrical to chemical

(B) chemical to light

{C) mechanical to electrical

(D) electricai to mechanical

Source of energy in Sun is

(A} Nuclear Fusion reaction

{B) Nuclear Fission reaction

{C) Nuclear Chain reaction

(D) Combustion

Which of the Fellowing are analogous organs?
(A) Limbs of lizard and human

(B) Limbs ol human and limbs of birds

{C} Limbs of lizard and fimbs of birds

(13} Wings of bats and Wings of birds
Which of the following is not an involuntary

dction?

{A) Blood Pressure  (B)  Salivation
{C) Riding abicyele (D)  Vomiting
Fertilisation in plants occurs in

(A) Embryo sac (B)  Pollen Tube
(C) Style ()  Stgma

Cells which have half the number of DNA
(A) Somatic Cell (B)  Germ Cell
(C) Inall celis ()  bothi& i

Why most food chains generally consists of

thiree or four steps?

(A) More food is available for the members
of chain ' '

{B) W maintain ecological balance

(C) wvery less usable energy is available after
{our steps

{17 None ol these

Which of the following is a water harvesting
technique practiced in Himachal Pradesh since
ancient times?
{A) Bandharas
() Kulhs

(B) Pynes
(D) Dam

To 68 U Tae@ W12t H, ol ST B 3
(A) Togge ot @ gamfe set |
(B) TGS S gy
(Q) s &=n 4 fogge ol #
(D) fomygd =t 9 =i oo |

Yo 69 T2 H T 1 T B .
(A} T deram sifufaar
(B) wwmifes fomed sifufmar
(C) Trvifas Yraerr sifufian
(D) =g

% 70 399 | B § 307 9HEY ¥,
(A) Towmel v wet & it
(B) OT=E & 37 aiw ufaei & i
(C) Totarelt # i i uferd &
(D) |TIEg & 3 el wfirdi & &=

T 71 399 8§ F T st fem g &2

(A) = (B)  ©IEE

(C) \rEfwe wm (Dy & T .
Yo 72 Wit H FO=A g &

(A) YUIHEH (B) RETEWHEH

(C) =i o (Dy  affEm A
Yo 73 T8 9 FFg FIfm § Sroau ot mmn and S

¥

(A) FIeer RINTRTH (B) S STl §

(C) wit=ifrmEis (D)3 (A) @iv(B)
Yo 74 SHENR ATER swmened ¥ 67 9 un wr 6wl

B E?

(A) a9 =R e & we # R s

I |
(B) i festfrss we s v & fir
(€C) =R ®M % Yvam ol ®Y wga w9 g

ST B B |
(D) $9H A= |
% 75 3T H B o et TR w wgh ferae
H 9N W ® e E &
(A) ¥9E  (B) WA
(C) FTT (D) =

|13!




Mathematics
Question Nos. 76 to 100

76. HCFof1l0, 154 &242is o 76 110, 154 TE 242 1 HewH FHTE ¥
(K122 (A) 22 |
() 121 , (B) 121
() 14 ; . ) 14 -
(D) 10 o) 10
77. LCMof336and 54is % 336 UG 54 T T GHTAIR §
(A) 3042 B) 3024 | (A) 3042 (B) 3024
(C) 2403 (D) 4203 (C) 2403 (D) 4203

78 The value of k for which the equation x*+2(k+1) | %78 T 4 2(k+H) ek = 0 F TR G g

x+k?=0hasequal roots is k @ | w1 T U
(A) -1 ®) -2 (A) -1 B) -2
(© 1 (D)  None of these (C) 1 @) I FE T

70, Tind the o term of the following: 1,2.5.4.5.5, [ %79 FEeT1,2.5,4,55 o B0 WHTEFIAT ¢

............. ) - -
= B A=
® Iy ® Ik @ Lo B 7
E .. 3 ¢ .
© 413 ® % © go-yp O oy
80, Aquadrilateral ABCD isdrawnto circumscribe | 80 TH ER H =1 &R T I ABCD =R ¥
acircle. IFAB = 12cm, BC= 15cmand CD =14 | TAB = 12 % U,BC=15ﬂ§TﬁoﬁRCD:14
cm, then AD isequal to Yotflo T ADE}W@W@{ I
(A) 10em ~ (B) llem (A) 10%eT  (B) 11T
(C) 12 cm (D) i4cm i (€ &4 D) _'14ﬁon°ro

'§1. Find the probability that a number selected at | Wog1 = fed e gEma FyFHEH sEEtEa TS |

random from the numbers 3, 4, 5, iy 23 is ﬁmﬁﬁm'ﬂmﬂl
prime (A) 9/23

A s (B) 8/25

(B) 825 (C) 8/23

(C) 823 (D) < B et

(D) None _

[14 ]




82.

84.

85.

86.

87.

The coach of a cricket team buys 7 bats and 6
balls for Rs. 3800. Later, she buys 3 bats and
- 5 balls for Rs. 1750. Find the cost of each bat

and each ball.
(A) 250,25 (B)y 400,45
500, 50

(C) 600,60 (D)

ABC and BDE are two equilateral triangles
such that D is the mid-point of BC. Ratio of the
area of triangles ABC and BDE is

(A) 2:1 By 12

(© 4:1 (D) 14

Determine the ratio in which the line 2x+y-4 =90
divides the line segment joining the points
A(2,-2)andB(3.7)

(A 9:2 (By 2.9

©) 22 (D) 37

In AABC right angled at B, AB =
7cm. Determine sin A, CosA.

(A) 25/7,25/24

(B) 24/25,7/25

(C) 7/25,24/25

(D) 25/24,25/7

24 cm, BC =

) Sin 18°
Evaluate Cos720
A) 1 By 122
(€) 2 Dy 3

The angle of elevation of the top of a tower trom
a point on the ground, which is 30m away from

the foot of the tower is 30°. Find the height of

the tower?
(A) IN3m  (B) 30A3m
(€) ¥330m (O 1043 m

82 TH T I &1 wWEw 7 A AR 6 W
. 3800 § Wl ¥ W #, d 3 et S 5 TR
. 1750*&@'{%@%1{&?3@?@'{@5%@1@
A |
(A) 250.25 (B)
(©) 600,60 (D)

400, 45
500, 50

% 83 ABC 3 BDE 31 W& wwag o § firrd
fog D, Y@ BC %1 9w faig §1 ABC 991 BDE

& ST T ST e |
(A) 21 By 12
(C) 41 (D) 14

T 84 T8 2x+y-4=0 Tor 3rqum & fag A (2, -2) 8l
B(3, 7) foig 1 She a1t T © &t FeA ¥,

A ST wa
(Ay 9:2 By 29
(C) 2:2 > 37 .

T.85 99 ABC, B ™ TH®IV §1 AB=24 T Hh,
BC=7% b Sin AT Cos A FTHH &S] |
(A) 25/7,25/24
(B) 24/25,7/25
(C) 7/25,24/25
(D) 25/24,25/7

-Sin18°

Te 86 mwtﬁaﬁﬁﬁl .
(A 1 (B) 1/2
(C) 2 Dy 3

%o 87 T HMK =] SHA W T fag @, 9 fF dAR#

SN & 30 Hiet ®1 g W o F, S 01 30°
R T AC G EE f

(A) 13X (B)
(C) V3/304= (D)

303 H=R
10/43 Htex



9.

S0.

9l.

92,

From the point Q, the length of the tangentto a
circle is 24 cm and the distance of (@ [rom the
centre is 25 cm. The radius of the circle is -

(A) 7em (B)
{(C) 15cm (D)

12em
245¢cm

The radii of two circles are 8 cm and 6 cm
respectively. Find the radius ot the circle having
area equal to the sum of the areas of the two

circles.
(A) S5cm (B) 10 cin
(C) 7em (D) 9cem

A metaliic sphere of radius 4.2 cm is meited and
recast into the shape of a cylinder of radius 6
cm. Find the height of the cylinder.

(A) 42 em (I3)
() 27decm (D)

3.0¢cm
4,2 cm

Aslant height of a frustum of a cone is 4 cm and
the circumiference of its circular ends are 18 cm
and 6 cm. Find the curved surface of the

frustum.
(A)y 12 cm? (B) 48cm®
(C)y 24cm? (D) 36cm?

Which one of the following is not the method
for deriving mean for grouped data?

(A) Direct method

(B) Assumed Method

{C) Step Deviation Method

(D) Cumulative Method

A bag contains 3 red balls and 5 black balls. A
bal! is drawn at random from the bag. What is
the probability that the ball drawn is red?

&) 2 ® &

) 1-4 (D)  None of these

To 88 W%Qﬁ,@ﬁéﬁwﬁwaﬁmﬁmﬁoﬁo
¥ el fig Q A g W 25 Yorllo &1 U AT Browm
£ E

(A) 78T (B)

(€) 15 % (D)

12 Vet
24.5 Yot

T 89 &1 el %1 T woer: s/ AL F 6 . ¥ 1 WA
F foroan s A o et weel <A 99t %
- AEEl B AT R T
(A) 5T (BY  10®eH
(C) 78 (D) 9 Wb

90 T 3 U Tl i, vt frar 4.2 Dol ¥, firren
T 6 Yorll F5roan &1 S 770 S0 € ¢ 1 Bt
T A F
(A) 428 (B)
(C) 2.74 FFito (D)

3.6 FeHlo

4.2 Yot

%o 91 T VI, T Fi A FAE 04 Fo 1l T AW T
TR AET it aifa wEe: 18 Tl 72 0 W Hh B |
Y1, TR o T5h 17 53 1 ST [ ol |

(A) 12 FeHfle?
(C) 24 Torfle

(B) 48 TeHl?
(D) 36 YoH?

Y92 THF o O 19 01 THE TS 1 AT feRreH 1
GREaR
(A) vaagfafy  (B)
(C) wum fa=eo fafy
(D) s fofy

wfoad W

993 U Fo1H 3 T S 991 5 FIA 18 T 1 U A1 ot
Y FHEH T | HhTe o S & | e 97 Feher
ﬁmfwmwam
(A) ? (B)

i
8

(D)

T FE




94.

97,

. 16 4.3

08.

99

1G0.

Fing the area of the wiangle of whose vertices
are(2.31.(-1.0).(2.-4)

(A) 1/2 square units

(B) 2/21 square units

(C) 2 square units

(D) 21/2 square units

Tind the distance between the following pair of
points: (2,3).(4. 1). .
Ay 42 B) 2V2

Cy 24 D) Noene ofthese

Let AABC-ADEFL and( their arcas be,
respectively, 64 cm” and 121 cm? I EF =154
em find BC. |
(A) ltem
(C) 11.2em

(BY 8cem

(D) 10 em

Find the zeroes for the quadratic polynomial
xhix-8
{A) 4.2 (B)

y el
(D)

4,2

2 cubes each of volume 64 cm? are joined end to
end. Find the surface area of the resulting
cuboids.

(A) 64 cm? By l6cm?

(Cy 32 em’ (D) 160 cm?

A 20 m deep well with the diameter 7m is dug
and the earth from digging is evenly spread out
totremaplatform22mby 14m.

2
Find the height ot the platform. Use 1= %‘"‘
(A} 25m (B) 5m
(C) 49m D)y 3m

10 students of class X took part in a maths quiz.
1f the number of girls is 4 more than the number
of boys, find the number of boys and girls who
took part in the quiz. '
(A) 7 boys, 11 girls
(C) 3 boys. 7 girls

(B) 2 boys, 6 girls
(D) 4 boys. 8 girls

[0 ]

9094Q$ﬁaﬁmaﬂ%ﬂmamaﬁﬁr@$ﬁﬁi(z,s),
(-1, 0) AW (2, -4) ¥
A) 12T 0FER
B) 2/21%3ETs
) 2TETER
D) 212 THE

o5 Togsi % wH g (2,3) W (4,1) FAAH I

Rl
Ay 42 B) 2V2
C) 24 D) T AT A

T 96 AABC WAET ADEF a9 37 SrRE W 64
Pz F 121 THF B 1 AREF =154 T, @ BC

HIHE T FU |
(A} llem (B) 8cm
(C) 112em (D) 10cem
Yo 97 Wﬁs@ﬁﬂxhh-s%ﬁgmmﬁl ‘
(A) 4.2 By -4.-2
(Cy 4,-2 ) 4.2

%98 o4 e A & 2 9 oo fel A g AT
T T ST R ) e ATTRe e |
(A) G482 (B) 162
©) 328#2 (D) 160 FFH
W99 T 20 Hiex T Ul 7 X AW H HI W |
wﬁﬁaﬁﬁﬁgﬁ‘fﬁwzzﬁaxmtﬁamﬁ‘ﬂ
aﬂﬁ%mww@fmwﬁaﬁﬁmﬁ
TAFU Use n=z—%
(A) 2.5 (8) 5L
(C) 494t (Dy 37
9100 FET x B 10 T ¥ v o wwwd d o
oo | ST TSR 1 e g ¥ 04 SR 1
gl T wrefHa, fomgn aRmfT 4 wmm for,
EGIC]
(A) 7, 11 s (B)2 TS+, 6 TS FHAl
(C) 3w, 7 TefRa (D) 4 T, 8 TWEIHA
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